

County Distribution Detail Report through 05/04/2021

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,053	1,871	14	2,938	\$3,672.50	\$100.88	\$3,571.62	0.70	\$2,500.13
							Entity Total:		\$2,500.13
							Adjustment:		\$0.00
							Total Amount:		\$2,500.13
Beadle									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,465	10,616	333	14,414	\$18,017.50	\$383.57	\$17,633.93	0.70	\$12,343.75
							Entity Total:		\$12,343.75
							Adjustment:		\$0.00
							Total Amount:		\$12,343.75
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	876	1,268	5	2,149	\$2,686.25	\$61.64	\$2,624.61	0.70	\$1,837.23
							Entity Total:		\$1,837.23
							Adjustment:		\$0.00
							Total Amount:		\$1,837.23
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,750	3,982	15	5,747	\$7,183.75	\$145.24	\$7,038.51	0.70	\$4,926.96
							Entity Total:		\$4,926.96
							Adjustment:		\$0.00
							Total Amount:		\$4,926.96

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	10,536	21,592	192	32,320	\$40,400.00	\$853.72	\$39,546.28	0.70	\$27,682.40
							Entity Total:		\$27,682.40
							Adjustment:		\$0.00
							Total Amount:		\$27,682.40
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	8,921	26,293	557	35,771	\$44,713.75	\$963.43	\$43,750.32	0.70	\$30,625.22
							Entity Total:		\$30,625.22
							Adjustment:		\$0.00
							Total Amount:		\$30,625.22
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,101	3,642	48	5,791	\$7,238.75	\$147.23	\$7,091.52	0.70	\$4,964.06
							Entity Total:		\$4,964.06
							Adjustment:		\$0.00
							Total Amount:		\$4,964.06
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	523	454	5	982	\$1,227.50	\$27.04	\$1,200.46	0.70	\$840.32
							Entity Total:		\$840.32
							Adjustment:		\$0.00
							Total Amount:		\$840.32
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,303	6,515	38	8,856	\$11,070.00	\$228.39	\$10,841.61	0.70	\$7,589.13
							Entity Total:		\$7,589.13
							Adjustment:		\$0.00
							Total Amount:		\$7,589.13

Campbell

Deperting Devied	Talaaam Linaa		VOIP Lines	Total Lines	Curcharge	Admin Fee	Not Curcherer	En titu	
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	644	1,417	11	2,072	\$2,590.00	\$53.35	\$2,536.65	0.70	\$1,775.66
							Entity Total:		\$1,775.66
							Adjustment:		\$0.00
							Total Amount	:	\$1,775.66
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,483	5,592	21	8,096	\$10,120.00	\$205.21	\$9,914.79	0.70	\$6,940.35
							Entity Total:		\$6,940.35
							Adjustment:		\$0.00
							Total Amount	:	\$6,940.35
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	41	2,826	94	2,961	\$3,701.25	\$90.58	\$3,610.67	0.70	\$2,527.47
							Entity Total:		\$2,527.47
							Adjustment:		\$0.00
							Total Amount	:	\$2,527.47
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	620	2,657	119	3,396	\$4,245.00	\$100.16	\$4,144.84	0.70	\$2,901.39
							Entity Total:		\$2,901.39
							Adjustment:		\$0.00
							Total Amount	:	\$2,901.39
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,384	11,383	210	14,977	\$18,721.25	\$390.57	\$18,330.68	0.70	\$12,831.48
							Entity Total:		\$12,831.48

Adjustment:

\$0.00

Total Amount: \$12,831.48

City of Sioux Falls, Lincoln (

ity of Sioux Falls, I									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,726	25,768	2,716	32,210	\$40,262.50	\$811.91	\$39,450.59	0.70	\$27,615.41
							Entity Total:		\$27,615.41
							Adjustment:		\$0.00
							Total Amount	:	\$27,615.41
ark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,233	2,356	34	3,623	\$4,528.75	\$93.89	\$4,434.86	0.70	\$3,104.40
							Entity Total:		\$3,104.40
							Adjustment:		\$0.00
							Total Amount	:	\$3,104.40
ау									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,686	7,565	267	9,518	\$11,897.50	\$251.95	\$11,645.55	0.70	\$8,151.89
							Entity Total:		\$8,151.89
							Adjustment:		\$0.00
							Total Amount	:	\$8,151.89
odington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	6,937	19,167	632	26,736	\$33,420.00	\$718.74	\$32,701.26	0.70	\$22,890.88
							Entity Total:		\$22,890.88
							Adjustment:		\$0.00
							Total Amount	:	\$22,890.88
orson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,019	726	282	2,027	\$2,533.75	\$52.38	\$2,481.37	0.70	\$1,736.96

Entity Total:

\$1,736.96

							Adjustment:		\$0.00
							Total Amount:		\$1,736.96
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,129	5,903	42	9,074	\$11,342.50	\$254.63	\$11,087.87	0.70	\$7,761.51
							Entity Total:		\$7,761.51
							Adjustment:		\$0.00
							Total Amount:		\$7,761.51
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	4,554	13,965	332	18,851	\$23,563.75	\$492.28	\$23,071.47	0.70	\$16,150.03
							Entity Total:		\$16,150.03
							Adjustment:		\$0.00
							Total Amount:		\$16,150.03
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,860	3,501	33	5,394	\$6,742.50	\$137.87	\$6,604.63	0.70	\$4,623.24
							Entity Total:		\$4,623.24
							Adjustment:		\$0.00
							Total Amount:		\$4,623.24
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,607	2,898	65	4,570	\$5,712.50	\$123.83	\$5,588.67	0.70	\$3,912.07
							Entity Total:		\$3,912.07
							Adjustment:		\$0.00
							Total Amount:		\$3,912.07
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,128	2,164	8	3,300	\$4,125.00	\$86.20	\$4,038.80	0.70	\$2,827.16

							Entity Total:		\$2,827.16
							Adjustment:		\$0.00
							Total Amount:		\$2,827.16
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,199	2,929	35	4,163	\$5,203.75	\$105.13	\$5,098.62	0.70	\$3,569.03
							Entity Total:		\$3,569.03
							Adjustment:		\$0.00
							Total Amount:		\$3,569.03
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,787	4,611	23	7,421	\$9,276.25	\$192.01	\$9,084.24	0.70	\$6,358.97
							Entity Total:		\$6,358.97
							Adjustment:		\$0.00
							Total Amount:		\$6,358.97
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	685	1,470	14	2,169	\$2,711.25	\$55.45	\$2,655.80	0.70	\$1,859.06
							Entity Total:		\$1,859.06
							Adjustment:		\$0.00
							Total Amount:		\$1,859.06
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,911	5,337	35	7,283	\$9,103.75	\$185.37	\$8,918.38	0.70	\$6,242.87
							Entity Total:		\$6,242.87
							Adjustment:		\$0.00
							Total Amount:		\$6,242.87
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2021	1,578	3,494	4	5,076	\$6,345.00	\$140.95	\$6,204.05	0.70	\$4,342.84
							Entity Total:		\$4,342.84
							Adjustment:		\$0.00
							Total Amount:		\$4,342.84
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	965	1,365	5	2,335	\$2,918.75	\$58.81	\$2,859.94	0.70	\$2,001.96
							Entity Total:		\$2,001.96
							Adjustment:		\$0.00
							Total Amount:		\$2,001.96
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,507	3,863	26	5,396	\$6,745.00	\$135.86	\$6,609.14	0.70	\$4,626.40
							Entity Total:		\$4,626.40
							Adjustment:		\$0.00
							Total Amount:		\$4,626.40
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	992	2,614	29	3,635	\$4,543.75	\$96.84	\$4,446.91	0.70	\$3,112.84
							Entity Total:		\$3,112.84
							Adjustment:		\$0.00
							Total Amount:		\$3,112.84
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	799	3,059	22	3,880	\$4,850.00	\$100.56	\$4,749.44	0.70	\$3,324.61
							Entity Total:		\$3,324.61
							Adjustment:		\$0.00
							Total Amount:		\$3,324.61
Harding									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	652	850	2	1,504	\$1,880.00	\$48.16	\$1,831.84	0.70	\$1,282.29
							Entity Total:		\$1,282.29
							Adjustment:		\$0.00
							Total Amount:		\$1,282.29
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	573	3,164	176	3,913	\$4,891.25	\$150.57	\$4,740.68	0.70	\$3,318.48
							Entity Total:		\$3,318.48
							Adjustment:		\$0.00
							Total Amount:		\$3,318.48
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,685	5,135	53	7,873	\$9,841.25	\$213.34	\$9,627.91	0.70	\$6,739.54
							Entity Total:		\$6,739.54
							Adjustment:		\$0.00
							Total Amount:		\$6,739.54
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	565	1,048	4	1,617	\$2,021.25	\$41.08	\$1,980.17	0.70	\$1,386.12
							Entity Total:		\$1,386.12
							Adjustment:		\$0.00
							Total Amount:		\$1,386.12
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	593	884	4	1,481	\$1,851.25	\$37.50	\$1,813.75	0.70	\$1,269.63
							Entity Total:		\$1,269.63
							Adjustment:		\$0.00
							Total Amount:		\$1,269.63

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	769	1,293	13	2,075	\$2,593.75	\$52.27	\$2,541.48	0.70	\$1,779.04
							Entity Total:		\$1,779.04
							Adjustment:		\$0.00
							Total Amount:		\$1,779.04
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	501	671	5	1,177	\$1,471.25	\$29.67	\$1,441.58	0.70	\$1,009.11
							Entity Total:		\$1,009.11
							Adjustment:		\$0.00
							Total Amount:		\$1,009.11
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,080	4,025	47	5,152	\$6,440.00	\$142.45	\$6,297.55	0.70	\$4,408.29
							Entity Total:		\$4,408.29
							Adjustment:		\$0.00
							Total Amount:		\$4,408.29
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,617	9,034	97	11,748	\$14,685.00	\$301.34	\$14,383.66	0.70	\$10,068.56
							Entity Total:		\$10,068.56
							Adjustment:		\$0.00
							Total Amount:		\$10,068.56
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	7,351	17,509	221	25,081	\$31,351.25	\$655.29	\$30,695.96	0.70	\$21,487.17
							Entity Total:		\$21,487.17

Adjustment: \$0.00

Total Amount: \$21,487.17

Lincoln

Deperting Devied	Telecom Lines			Total Lines	Curchenter	Admin Fac	Not Curcherry	Endited	
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,597	23,701	1,693	28,991	\$36,238.75	\$820.95	\$35,417.80	0.70	\$24,792.46
							Entity Total:		\$24,792.46
							Adjustment:		\$0.00
							Total Amount	:	\$24,792.46
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,005	2,073	41	3,119	\$3,898.75	\$86.05	\$3,812.70	0.70	\$2,668.89
							Entity Total:		\$2,668.89
							Adjustment:		\$0.00
							Total Amount	:	\$2,668.89
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,446	2,861	25	4,332	\$5,415.00	\$115.11	\$5,299.89	0.70	\$3,709.92
							Entity Total:		\$3,709.92
							Adjustment:		\$0.00
							Total Amount	::	\$3,709.92
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,964	4,288	18	6,270	\$7,837.50	\$160.09	\$7,677.41	0.70	\$5,374.19
							Entity Total:		\$5,374.19
							Adjustment:		\$0.00
							Total Amount	:	\$5,374.19
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	920	1,597	4	2,521	\$3,151.25	\$74.67	\$3,076.58	0.70	\$2,153.61
							Entity Total:		\$2,153,61

Entity Total:

\$2,153.61

							Adjustment:		\$0.00
							Total Amount	:	\$2,153.61
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,212	18,471	171	21,854	\$27,317.50	\$584.08	\$26,733.42	0.70	\$18,713.39
							Entity Total:		\$18,713.39
							Adjustment:		\$0.00
							Total Amount	:	\$18,713.39
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	542	715	0	1,257	\$1,571.25	\$31.56	\$1,539.69	0.70	\$1,077.78
							Entity Total:		\$1,077.78
							Adjustment:		\$0.00
							Total Amount	:	\$1,077.78
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	937	1,595	20	2,552	\$3,190.00	\$64.07	\$3,125.93	0.70	\$2,188.15
							Entity Total:		\$2,188.15
							Adjustment:		\$0.00
							Total Amount	:	\$2,188.15
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	39,319	153,123	7,737	200,179	\$250,223.75	\$5,386.29	\$244,837.46	0.70	\$171,386.22
							Entity Total:		\$171,386.22
							Adjustment:		\$0.00
							Total Amount	:	\$171,386.22
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,285	4,591	62	5,938	\$7,422.50	\$170.13	\$7,252.37	0.70	\$5,076.66

							Entity Total:		\$5,076.66
							Adjustment:		\$0.00
							Total Amount:		\$5,076.66
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	23,487	83,524	2,393	109,404	\$136,755.00	\$2,973.13	\$133,781.87	0.70	\$93,647.31
							Entity Total:		\$93,647.31
							Adjustment:		\$0.00
							Total Amount:		\$93,647.31
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,655	2,337	11	4,003	\$5,003.75	\$110.78	\$4,892.97	0.70	\$3,425.08
							Entity Total:		\$3,425.08
							Adjustment:		\$0.00
							Total Amount:		\$3,425.08
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,010	1,768	13	2,791	\$3,488.75	\$70.25	\$3,418.50	0.70	\$2,392.95
							Entity Total:		\$2,392.95
							Adjustment:		\$0.00
							Total Amount:		\$2,392.95
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	3,088	5,107	20	8,215	\$10,268.75	\$227.33	\$10,041.42	0.70	\$7,028.99
							Entity Total:		\$7,028.99
							Adjustment:		\$0.00
							Total Amount:		\$7,028.99
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2021	735	1,789	13	2,537	\$3,171.25	\$64.23	\$3,107.02	0.70	\$2,174.91
							Entity Total:		\$2,174.91
							Adjustment:		\$0.00
							Total Amount:		\$2,174.91
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,717	4,513	32	6,262	\$7,827.50	\$160.88	\$7,666.62	0.70	\$5,366.63
							Entity Total:		\$5,366.63
							Adjustment:		\$0.00
							Total Amount:		\$5,366.63
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	675	2,201	51	2,927	\$3,658.75	\$77.34	\$3,581.41	0.70	\$2,506.99
							Entity Total:		\$2,506.99
							Adjustment:		\$0.00
							Total Amount:		\$2,506.99
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	573	1,160	5	1,738	\$2,172.50	\$44.01	\$2,128.49	0.70	\$1,489.94
							Entity Total:		\$1,489.94
							Adjustment:		\$0.00
							Total Amount:		\$1,489.94
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	0	100	1	101	\$126.25	\$12.58	\$113.67	0.70	\$79.57
							Entity Total:		\$79.57
							Adjustment:		\$0.00
							Total Amount:		\$79.57
- ·									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,195	3,924	32	6,151	\$7,688.75	\$158.34	\$7,530.41	0.70	\$5,271.29
							Entity Total:		\$5,271.29
							Adjustment:		\$0.00
							Total Amount:		\$5,271.29
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,127	6,248	14	8,389	\$10,486.25	\$212.86	\$10,273.39	0.70	\$7,191.37
							Entity Total:		\$7,191.37
							Adjustment:		\$0.00
							Total Amount:		\$7,191.37
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	2,668	11,204	575	14,447	\$18,058.75	\$456.49	\$17,602.26	0.70	\$12,321.58
							Entity Total:		\$12,321.58
							Adjustment:		\$0.00
							Total Amount:		\$12,321.58
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	1,805	3,644	214	5,663	\$7,078.75	\$143.17	\$6,935.58	0.70	\$4,854.91
							Entity Total:		\$4,854.91
							Adjustment:		\$0.00
							Total Amount:		\$4,854.91
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2021	5,010	16,184	374	21,568	\$26,960.00	\$565.40	\$26,394.60	0.70	\$18,476.22
							Entity Total:		\$18,476.22
							Adjustment:		\$0.00

	Totals	196,360	613,194	20,407	829,961	\$1,037,451.25	\$22,287.13	\$ 1,015,164.12
--	--------	---------	---------	--------	---------	----------------	-------------	-----------------